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XML |% & 4 %4 - &R ZEE&ER S (BxEHY) (B) SEEE
(A) g | = | s (B/A)
KB |- BEIEER 18 FERY 94 20 27 47 0.87
2ZEHEHLE 6 1 2 3 0.50
288 NFEEHEE 54 23 26 49 0.91
2ZEHEHLE 6 1 0 1 0.17
3T |1FEHEY 36 5 7 12 0.33
2ZEHHLE 3 0 0 0 0.00
1FEHELE 144 48 60 108 0.75
w3 2ZEHY LR 15 2 2 4 0.27
&t 159 50 62 112 0.70
(8) Bl D4R (FfE LR &)
% YN BRIEEANE R #
XHEHE |2 & 4 -8 ZE&ER S (BxEHY) (B) SEEE
(A) g | = | s (B/A)
FE | B L REER 1FFERY 100 67 74 141 1.41
1~4%R 2ZEHHLE 50 2 2 4 0.08
&t 150 69 76 145 0.97
F#Rl2-48 |WFEHRY 46 40 16 56 1.22
1FEHELSE 146 107 920 197 1.35
#® 3 2ZEHYLEE 50 2 2 4 0.08
&t 196 109 92 201 1.03
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3 YN BREEANE =%
XHEHE |2 & 4 -8 ZER S (BxEHY) (B) ISEfEE
(A) g | = | = (B/A)
AR |% B|EER |18 P EEES 54 23 31 54 1.00
2ZFEHHLE 5 0 0 0 0.00
28 |1FEHRY 54 24 35 59 1.09
22 FHRAELULE 5 0 1 1 0.20
3B | 1FFEEY 36 4 7 11 0.31
2ZFEHALE 5 0 0 0 0.00
1FEHELSE 144 51 73 124 0.86
w3 2ZEHLLIEE 15 0 1 1 0.07
Hi 159 51 74 125 0.79
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ERTIE SR L S BoA Z&ERXH (BxEHY) (B) ISEfEE
(A) g2 | = | = (B/A)
XHEH |KX 88 I #EER 1FEHEE 30 5 2 7 0.23
HEEIZEH 12EHY 30 1 0 1 0.03
&t 60 6 2 8 0.13
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REHEZ |2 & & B & ZEE&ER S (BLMHT) (B) SEEE
(A) | = | & (B/A)
| £ 74 ZlE@E 18 [12EHEY 54 23 18 41 0.76
2ZFEHEYLE 6 0 0 0 0.00
288 |1EEHEY 54 17 21 38 0.70
2ZFEHEYLE 6 0 1 1 0.17
3B |1FEHEY 36 13 6 19 0.53
2ZEHYLE 3 0 0 0 0.00
1FEHELE 144 53 45 98 0.68
w3 2ZEHY LS 15 0 1 1 0.07
&t 159 53 46 99 0.62
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% YN BRIEEANE R #
REHEZ |2 & & BoA ZE&ER S (BLMHT) (B) SEEE
(A) | = | = (B/A)
it re BIEER 1FEHESY 60 9 10 19 0.32
B 60 9 10 19 0.32
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(A) 7 H (B/A)
wE |k B A EEER 1RERY 30 1 7 18 0.60
it 30 11 7 18 0.60
(14 BREHOER N\ EFHREEK)
3 YN BREEANE =%
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(A) | = | = (B/A)
NEF P\VE F 4 E|BEE |18 |1FFES 54 40 57 97 1.80
22 FHELELUE 6 2 0 2 0.33
288 |1FFHEY 54 46 33 79 1.46
22 FHELELUE 6 1 0 1 017
3B | 1FFEEY 36 17 7 24 0.67
2ZFEHLLE 3 0 0 0 0.00
1RFERLE 144 103 97 200 1.39
# B 2 FHAE LG 15 3 0 3 0.20
Hi 159 106 97 203 1.28
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3 JN-| BRIGEAR & &
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(A) | = | = (B/A)
v TV 1 NM|EER1~3E |[12EHS 120 52 79 131 1.09
2FFRLLE 15 0 0 0 0.00
&t 135 52 79 131 0.97
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REHEZ |2 & & B & ZEE&ER S (BLMHT) (B) SEEE
() g | = | (B/A)
HHE O|F B K SHReEn 1FERY 90 24 20 44 0.49
£t 90 24 20 44 0.49
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BHEABR RRIEEANE R #
REHEZ |2 & & BoA ZE&ER S (BLMHT) (B) SEEE
(A) g2 | = | = (B/A)
BABXK |RABREBRE |RexH 1FEHESY 60 15 5 20 0.33
Hi 60 15 5 20 0.33
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A g | = | (B/A)
& N K K|BREER 1FEHESY 170 84 144 228 1.34
1~3&B 2ZEHYLE 15 4 1 5 0.33
&t 185 88 145 233 1.26
IR | XK I FlRezEs 1FEHESE 170 83 115 198 1.16
1~3%&B 2FFEHLLE 15 1 0 1 0.07
&t 185 84 115 199 1.08
HEAS [t H & R[HBREFER 1FEHESY 170 88 86 174 1.02
1~3%p 2FEMREUE 15 1 1 2 0.13
Hi 185 89 87 176 0.95
RO r  E|ReER 1FEHESE 230 167 124 291 1.27
1~3%&B 2FFEHLLE 15 0 1 1 0.07
&t 245 167 125 292 1.19
it Wy E|REeER 1FEHESY 170 76 89 165 0.97
1~3%p 22 FEHLLE 15 1 0 1 0.07
Hi 185 77 89 166 0.90
NEF P\ E F 36 E|EEHR 1EERY 60 55 29 84 1.40
1:288 Hi 60 55 29 84 1.40
12EHEE 970 553 587 1,140 1.18
FrLoORI—ILRUFYLODH 5 2FFEME L EE 75 7 3 10 0.13
&t 1,045 560 590 1,150 1.10
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A g | = | s (B/A)
1RERBER 2,112 1,032 1,075 2,107 1.00
2R EHL L EERE 200 14 9 23 0.12
B 2,312 1,046 1,084 2,130 0.92




